6 o B

48178 (BA) ~

48218 (&)

& HRE 08 : 25~08 : 45 BRETHREZ 16:10
4 /17 (B) 4/18 (k) 4 /19 (k) 4/20 (K) 4/21 (&)
o SESEHESE o res
FEFE q;;&: ,:Elh I HRATBIA gzﬁfig
WERBE E) =
1 2 3 1 2 3 1 2 3 1 2 3 1 3
1 IR RV I BIR R IB|T R B
09:00~09:45 | B | B | B s & | E|e|E|G|E|E|E
P £ 2 | 3 9 | e E 4
2 5 | 38 | a5 |4t | 38 ) (-1 = g
09 : 55~10 : 40 ’7% ﬂ' ﬁ é?é '% ﬂ' = #( #} ﬂ'
3 zlm| 7 APk RS
115 00~11 45 % | # 2 Clalulss|# el a
4 | 5| #iﬁgﬁm;imw
niss~12:00 | B | B | £ 3z 2 # £ B/l B
5 || 7] w7 x|z HEIE:
14 : 00~14 : 45 '%“ iﬁ: &)7“ '%“ #( iﬁ: ’%
6 K | 3 AR AR it
1:s5~15:40 | B | & EIEIE|E & i S e
FbY ‘RUEEYL
(A 2— X - AR -
EEHK 2EY7-17TY)




